a) Express 1.46 as a fraction in its simplest form.
1+v8
b) Express V8 with a rational denominator in its simplest form.
1+3+/2
o) Simplify 8 s X3
MR x3t16 ~ 2x+4
d) Solve for x:
x+2 _ 4 - x-1
2
e) Solve the following equations simultaneously:
y =x3+x2 and y=x+1
f)  Solve
X
=5
2x-1
Question 2 (14 marks)
a) i) Simplify, expressing the answer with positive indices:
2n.4_n+1
8n—2
ii) Solve for x:
3.5%-1 _
5%+2
iii) Find the value of x correct to 2 decimal places.
27%=5
b) i) Evaluate log, 3, correct to 4 significant figures.

Question1 (15 marks)

ii) Evaluate logs 100 — logs 4.



iii) Show that 3'°83° =9

c) Solve for x
log,(2x — 1) +log,(x —4) =2
d) i) Iflogy,2=0.3010

Evaluate log,o (3.2)
. . a
i) If log, x = 1.8 and log, y = 2.4, find log, (E)

Question 3 (10 marks)

a) Copy the following diagram on to your answer sheet, and

Find the value of x, giving reasons for each step of your working out.

IR =~ ¢

A - 3 D
Xe
E

b) Copy the diagram on to your answer sheet and find the value of b.

Not to scale

(correct to 2 decimal places).

Not to scale



c) Provethat A AXB is similar to A CXD and hence find the value of x.

D  NoTTOSCALE

Question 4 (11 marks)

a) i) State whether the graph below is odd, even or neither.

\

A
J

2x , x>0
x2-3, x<0

|

i) If £(x) = {

find £(5) = f(0) + f(=1)

iii) State the domain and range of y = vV2x — 4

iv) Show thaty = x3 — x is an odd function.



b) i) On the same set of axes, sketch the graphs of y = 2|x| and y = |x + 3|

(note: your graph must be approxamitely 1/3 of a page in size and neatly presented)

ii) Find the point(s) of intersection of y = 2|x| andy = |x + 3|

4
x% —4

c) Sketchthecurvey = 1 —

END
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